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LABJNDu3 standard lightnessl*

Ya=Yw - nc=100,

"L agaNDu3=IN(A1n+AnY)(AgnAon)  (Ya/100<Y<=Y,o)
I* L agaNDu3 =IN(A 10+A2X)/ (A2iAon)  (X=YIYy)
1 (3,6)=218* ,(18)=496 [* y(90)=772

logi*/I* ]=0, m;=0,33

L* =49, I* ;=496

LABJINDu3

tristimulus value difference

Yoc=Yw nc=100,
I* L ABINDU3 =IN(A 10+ A2RY)/(A2nAon)  (Ynd/100<Y<=Yoo)
I* L ABINDUa=IN(A 10t A2) (A2 Aon) - (X=YTYy)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) X=YIYL|
Aonpes=1,5, Aon a=1,0, see CIE 230:2019

P 4

I* ;=496 dY,=0,12 dY,/Y,=0,0067

................ Y ../

iog(dY)=0,12 m,=0,85

log (AY/Y) LABJINDU3

_ tristimulus value sensitivity
S=@vr) YotV nc=100
I* L ABINDU3 =IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Yyo)

*LABINDUa=IN(A 10+ A2) (A2 Aon) - (X=YTYy)
AYIY=Aor(Art Ao )Y =Ag (At AsX)/Y

log(dY/Y)=2,16 m=-0,5. < _ _  application

Fapge
I*,=496 dY,=0,12 dY,/Y,=0, 0067I
1

ot
xN=0,2 Xw=5

LABJINDu3
tristimulus value contrast
Yoc=Yw nc=100

I* L ABINDU3 =IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Yyo)

L aganDus=IN(A 10+ A2X)/(AgAon) - (X=Y1Yy)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]

C,=(Y/AY)

- r 0
application
range

Pw=5

LABJNDuS3 relative standard lightnessl*/I*
I Yoc=Yw - nc=100,

1 LagaNDuz =IN(A1ntA2nY)(AgnAon)  (Ynd/100<Y<=Y,o)
1* | ABaNDU3 =IN(A 10 +A2X)/(A2pA0n)  (X=Y1Yy)
1 (3,6)=218 * ,(18)=496 1* y(90)=772

L* =49, =496

log(AY/AY,) LABJNDu3 relative

tristimulus value difference
NNy Yoc=Yw - nc=100,
11 ABINDUB =IN(A 17 +A2RY)/(A2rAon)  (Ynd/100<Y<=Yoo)
1L ABINDU3 =IN(A 10 +A2)(A2uAon)  (X=YTYL)
dY/dY =(A1+A X (A1 +AY)

XN=0,2 Xw=5

log [(AY/Y) 1 AYIY),] LABJINDuS relative

tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc

1L ABINDU3 =IN(A 17 +A2RY)/(ArAon) - (Ynd/100<Y<=Yoo)
11 ABINDU3 =IN(A 10 tA2) (A2 Aon)  (X=YTYL)
(dY/YY(AYIV)=[(A 1+ A )X (A 17+AZ0)

EES
log[(dY/Y)(dY/Y) =0, m=-0,13 1 .
* =496 dY,=0,12 dY,/Y,=0,0067 ?g’npg','ga""”

=1

XN=0,2 Xw=5

log [(Y/AY) 1 (YIAY),] LABJINDu3 relative

tistimulus value contrast
ClCr=(YIAY(YIAY)y . =y, - =100

1L ABINDU =IN(A 17 A2 Y)/(A2rAon)  (Ynd/100<Y<=Yoo)
11 ABINDUS =IN(A 1n+A2)(A2uAon)  (X=YTYL)
(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)

* =496 dY,=0,12 Y,/dY.~ 247 ~
r 1 application
1 range
Iy =1
Sl (S
XN=0,2 Xw=5

LABJNDu3 standard lightnessL*

YoeL*w -~ nc=100

L* | ABINDU3=IN(A 15+A2nY)/(A2rAon)  (Ynd/100<Y<=Y,0)
L* 1 ABaNDus=IN(A 10+ A2 X) (Ao Aon) - (X=YTY)
L* (3,6)=218L* ,(18)=496 L*  (90)=772

log[L*/L* J=0, m,=0,33

L* =49, L* ,=496

CEC31-1A
logAY) LABJINDu3

AY trislimulus vaILLe difference

Y=L w nc=100,
L*Laganpua=IN(A1n+A2nY)/(A2rA0n)  (Yac/100<Y<=Y,o)
L*Laganpua=IN(A1ntA2X)/(A2Aon)  (X=YTYy)
dv:AOn(A1n+A2nY)=A0n(A1n+A2uX) X:YIYU
Aonpes=1,5, Aon a=1,0, see CIE 230:2019

CEC31-3A
log (AY/Y) LABJINDU3

tristimulus value sensitivi
S=(@AYH) YomL*w =100 4

nc’

L*Laganpua=IN(A1ntA2nY)/(A2nA0n)  (Yac/100<Y<=Yqo)
L*Laganpua=IN(A1ntA2X)/(A2iAon)  (x=YTYy)
AYIY=Por(A it AgaY)Y=Ag (A it AgX)/Y

application
- dage
L* =496 dY,=0,12 dY,/Y,=0, 0067I
1

ot

XN=0,2 Xw=5

CEC31-5A
log (Y/AY) LABJINDu3

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’

L*Laganpua=IN(A1n+A2nY)/(A2rA0n) - (Yac/100<Y<=Y,o)
L* LABINDU3=IN(A 15+A2) (A2 Aon) - (X=YTYY)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]

log(Y/dY)-2,16 m,=0,13 - =~

application
range

Pw=5

CEC31-7A
CEC31-7N

TUB-test chart CEC3; LABINDyY3*(Y) & L*(Y), Ync=(Y&L*) wnc cx=0,66
Absolute and relative lightness, sensitivity and contragt=2A5, An=0,011, A,=0,0038, A,=0,06

LABJNDuS3 relative standard lightnessL*/L*

LHIL* YocmL*w -~ n¢=100,
L* 1 aganDua=IN(A1n+A2Y)(A2rAon)  (Yad100<Y<=Y,o)

L* aaNDuz=IN(A 1t A2 X)/(AoAgn)  (X=Y/Yy)
L*\(3,6)=218 L* ,(18)=496,L* ,(90)=772

L* =49, L* ;=496

CEC31-2A
log(AY/AY,) LABJNDu3 relative

tristimulus value difference
NN YomL*yy - =100,

L*LaganDua=IN(A1n+A2Y)(A2rAon) - (Yad 100<Y<=Yyo)

L1 aganpua=IN(A 1ntA20X)/(A2iAon) - (X=YTYy)
dY/dY =(A1+A X (A1 +AY)

application
nge

=1

CEC31-4A
log [(AY/Y) | (AYIY),] LABJNDuS relative

tistimulus value sensitivity
SISU=OYNIAYIY), oo e YEHE TS

nc

L* L aganDua=IN(A1ntA2Y)(A2rAon) - (Yad/100<Y<=Yyo)
L1 aganpua=IN(A 1ntA2X)(A2uAon) - (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)

>
log[(dY/Y)(dY/Y) ]=0, m=-0,13 1 .
L* =496 dY,=0,12 dY,/Y,=0,0067, ra;npg','gam”

=1

XNn=0,2 Xw=5

CEC31-6A
log [(Y/AY) I (YIAY),] LABJINDu3 relative

/Gy =(YIAYY(YIAY), t\|(st|n|‘_n*1|us value contrast

nc™

L*LaganDua=IN(A1ntA2Y)(A2rAon) - (Yad 100<Y<=Yyo)
L1 aganpuz=IN(A1ntA2X) (A2yAon) - (X=YTYy)
(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)

log[(Y/dY)( YldYL] 20 m=013 .

application

=1

XNn=0,2 Xw=5

CEC31-8A
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